
FYSE302	
  Elektroniikka	
  1	
  B-­‐osa,	
  kevät	
  2013	
  
Loppukoe	
  10.5.2013	
  
vastaa	
  kaikkiin	
  kysymyksiin	
  (yhteensä	
  48	
  pistettä)	
  
	
  

1	
  

	
  
1. Kuvaile	
  lyhyesti.	
  Piirrä	
  kuvia	
  tarvittaessa.	
  
a) Tehollisarvo	
  (3	
  pistettä)	
  
b) Resonanssipiirin	
  Q-­‐arvo	
  (3	
  pistettä)	
  
c) Positiivinen	
  ja	
  negatiivinen	
  takaisinkytkentä	
  (3	
  pistettä)	
  

	
  
	
  
	
  
2. Määritä	
  kuvan	
  1.	
  piirissä	
  olevan	
  kelan	
  läpi	
  kulkevalle	
  virralle	
  amplitudi	
  ja	
  vaihe,	
  kun	
  

𝐸(𝑡) = 2 ⋅ 10𝑉 ⋅ sin(2500 ⋅ 𝑡).	
  (10	
  pistettä)	
  

	
  
kuva	
  1.	
  

	
  
	
  

3. Kuvan	
  2.	
  kytkentää	
  käytetään	
  tehovahvistimena.	
  Piitransistorin	
  (𝑉!" = 0.7𝑉)	
  
virtavahvistuskerroin	
  𝛽 =   100.	
  Lisäksi	
  𝑉!! = 15  𝑉,	
  𝑅! = 10  𝑘𝛺	
  ja	
  𝑅! = 30  𝑘𝛺.	
  	
  
a) Määritä	
  𝑅! 	
  	
  ja	
  𝑅! 	
  	
  siten,	
  että	
  transistorin	
  toimintapisteeksi	
  tulee	
  𝑉!" = 6  𝑉	
  ja	
  

𝐼! = 2  𝑚𝐴.	
  (4	
  pistettä)	
  
b) Hahmottele	
  𝑖! − 𝑣!" 	
  	
  -­‐	
  ominaiskäyrät	
  eri	
  𝑖!:n	
  arvoilla	
  ja	
  piirrä	
  samaan	
  kuvaan	
  dc-­‐

kuormitussuora.	
  (3	
  pistettä)	
  
c) Lisää	
  kuvaan	
  vielä	
  ac-­‐kuormitussuora,	
  kun	
  𝑅! = 3  𝑘𝛺.	
  Määritä	
  lisäksi	
  lähtöjännitteen	
  

AC-­‐komponentti	
  𝑣! ,	
  kun	
  kannalle	
  tuleva	
  vahvistettava	
  AC-­‐virtasignaali	
  on	
  𝑖! =
10  𝑠𝑖𝑛 𝜔  𝑡 𝜇𝐴.	
  	
  AC-­‐signaalin	
  kannalta	
  kondensaattorit	
  oikosulkuja.	
  (3	
  pistettä)	
  

	
  
kuva	
  2.	
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4. Määritä	
  kuvan	
  3.	
  kytkennässä	
  𝑉! ,	
  kun	
  𝑅! = 16 ⋅ 𝑅.	
  	
  Mihin	
  kytkentää	
  voidaan	
  käyttää?	
  

Vihje:	
  käytä	
  superpositioperiaatetta.	
  (10	
  pistettä)	
  

	
  
kuva	
  3.	
  

	
  
	
  
5. Järjestelmää	
  kuvaa	
  seuraavat	
  yhtälöt:	
  

𝑉! = 𝐴 ⋅ 𝑉!
𝑉! = 𝑉! − 𝑉!
𝑉! = 𝐵 ⋅ 𝑉! + 𝑉!
𝑉! = 𝐶 ⋅ 𝑉!
𝑉! = 𝐷 ⋅ 𝑉!,

	
  

missä	
  𝐴.𝐵,𝐶	
  ja	
  𝐷	
  ovat	
  järjestelmän	
  lohkojen	
  siirtofunktioita	
  ja	
  𝑉!:t	
  signaaleita	
  järjestelmän	
  eri	
  
pisteissä.	
  Piirrä	
  järjestelmän	
  lohkokaavio	
  ja	
  määritä	
  koko	
  järjestelmän	
  siirtofunktio	
  𝐺!"! =
𝑉!/𝑉!	
  	
  (9	
  pistettä)	
  
	
  
	
  


